MODEL PAPER
M.A. PREVIOUS ARTS
Political Science
Paper —I : Political though: Plato to the Present Day
Time: Three hours Maximum Marks:75
Marks: 45
Part-A (@vs 3)
Answer all questions. All question carry equal marks.
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Part-B (@vs—4)

Answer any three questions ( 300-400 words) out of five. All question carry equal

Q.1

Q.2

marks.
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Aristotle is called the ‘Father of Political Science’ because of his idea of:
(a) Revolution (b) Slavery

(c) Classification (d) Scientific Study of polities
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According to Aristotle, which of the following is the best form f govt.?



Q.3

Q.4

Q.5

(a) Democracy

(c) Polity

(b) Oligarchy

(d) Tyranny
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In this concept of ideal state, plato emomloys the term appetite which refers

to?
(a) Soldiers

(c) Artisans

(b) Rulers

(d) Individuals
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Arrange the following books in order in which they appeared, Use code

given below:

(1) laws

(3) De republic

(a) 1,2,3,4

(c)2,4,1,3
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(2) Apology
(4) Republic
(b) 3,4,1,2
(d)3,2,4,1



Q.6

Q.7

Q.8

Basis of Rule in plato’s Ideal State
(a) Parental Theory (b) Property

(c) Genetic Concept (d) Knowledge
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“Main is a social animal” by Aristotle because:
(a) Society is natural (b) Society came before the am

(c) Man cam before the society (d) State 1s artificial
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The two principles of aristotle’s Classification of state were:

(a) Principles number and quality of rule

(b) Principle of religion and power

(c) Principles of population and army

(d) Principle of number and wealth
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Which book is belonging to Aristotle?

(a) The Constitution (b) Republic



Q.9

Q.10

Q.11

Q.12

(c) History of animals (d) The topics
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The term city state is used for:

(a) The state in ancient Greece (b) The local government bodies in
England
(c) Small states on modern times (d) The states of a federation
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Who proposed the principle that the political ruler should be amoral?
(a) Machiavelli (b) Hobbes

(c) Loke (d) Roussean
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Loke’s book on theory of social contact is:
(a) Representative Government (b) Social Contact
(c) Two treaties on civil government

(d) Lectures on Jurisprudence
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According to Rousseau the state of nature was:

(a) A period of war (b) A period of great uncertainty

(c) A period of religion (d) A period of peace and happiness
Q.13 wmH=I gToT B4l B HTdD?

(31) & UG Terd ST B Al @ (@) BT |Er T

(|) g |E (3) BHem

General will according to Rousseau:
(a) Can be both right and wrong (b) Is never right
(c) Is generally right (d) Is always right
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Identify the correct order in which the political thinkers propounded their
respective theories:

(a) Machiavelli, Hobbes, Rousseau, Mill
(b) Machiavelli, Rousseau, Hobbes, Mill
(c) Hobbes, Machiavelli, Rousseau, Mill
(d) Hobbes, Rousseau, Mill, Machiavelli
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Rousseau’s social theory influenced:
(a) The amerian war of Independence

(b) Russian Realuation of 1917



Q.16

(c)The france Revaluaion in 1789

(d) The Glories Revaluation of 1688 in England
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Who said main is born free every where he is in chains:

(a) Locks (b) Rousseau

(c) Marx (d) Bentham
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Which one ‘right’ in the following includes two other rights according to
loc?

(a) Right to property (b) Right to life

(c) Right to liberty (d) Right to equality
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Which one of the following concepts had been criticized as Paradox of
Freedom?

(a) Platonic Justice (b) Lock’s Government Contract

(c) Rosseau’s General will (d) Rawl’s Distributive Justice
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Who propounded the idea of felicific calculus?
(a) Machiavelli (b) Hobes

(c) Bentham (d) Marx
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Who said “ Will not force is the basis of states:
(a) Bentham (b) Mill
(c) Green (d) Hegal
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According to Hobbes the state of nature was a period of:
(a) Religious dominancy (b) Peace and security

(c) Connstant Warfare (d)Peace and Pleny
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Social contact theory deals with?
(a) The origin of state (b) The purpose of state

(c) The function of state (d)The constitution of state
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Jhon Lock belonged to one of the following countries:
(a) U.S.A. (b) Britain

(c) Germany (d) France
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Laski’s poltical theory may be best characterized as:

(a) Pluralist (b) Individualist

(c) Marxist (d) Pluralist, Individualist and Marxist
in true
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Which one of the following is correctly matched?
(a) Property as product of human labor: Proudhan
(b) Property as theft : Marx

(c) Property as instrument: Aristotle

(d) Property as appropriation of surplus vale: lock
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Which one of the following is not an element of “Democratic Socialism”?

(a) Social Justic (b) Revolutionary change
(c) Mixed Economic (d) Welfare state
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Political pluralism:
(a) Rejects the idea of the state
(b) Rejects the moral and Leal emnicompetence of the state

(c) Feject the view that hat Iwa is not he creation of the state but is anterior
and superior to it?

(d) Believe in the complete autonomy of corporate group
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The concept of pegemony is associated:

(a) Lenin (b) Mao

(c) Gramci (d) Marx

faglal &1 ufdures &)= & oy |amrise dfder Rigid &1 s fea fear?
(1) s (2) N1



(3) ifer (4) TR
(1) 1 3R 2 W& & @) 2 3k 4 w1 B
() 1 iR 3 W&l & (@) 3 3R 4 TS B

For propounding their theories their social contract theory was used by:

(1) Marx (2) Rawles
(3) Lenin (4) Nozick
(a) 1 and 2 are correct (b) 2 and 4 are correct
(c) 1 and 3 are correct (d) 3 and 4 are correct
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According to Marxists the class distincetion made their appearance:
(a) After french revolution (b) After the rise of national state

(c) After the industrial revolution (d) After man started leading settle
life and look to cultivation
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The most important feature of state according toe the Marxists is:

(a) Removal of poverty (b) Removal of disparities
(c) Eliminating of inequalities (d) Oppressions of one class to
another
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The idea that the state is an end in itself was expressed by?
(a) Socialists (b) Marxists

(c) Fabians (d) Greek thinkers
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Who name is associated with the concept ‘relative autonomy of state’?

(2) Lenin (b) stalin

(¢) Gramsci (d) Mao
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The Throry of political obligation was propounded by?

(a) I.s. mill (b) Hegel

(c) Marx (d) T.H. Green
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What is the expressin by you to the political philosophy of T.H. Green?
(a) Traditional Liberalization (b) Legislative liberalization

(c) Universal liveralization (d) Utilism Liberalizatin
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Q.37
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Which one of the following book is written by laski?

(a) State and Revolution (b) The communist manifesto
(c) Grammar of polities (d) The theory of Justice
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Write the name of one magazine published by raja ram mohan roy?

(a) kesari (b) Samwad Kaumudk
(c) Indu Prakash (d) Satyarth Prakash
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Word “Hijrat” is used by whom?

(a) Raja Ram Mohan Roy (b) Mahatma Gandhi
(c) Jawahar lal Nehru (d) Swami Vivekanand
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Which two festivals was first started by lokmanya bal gangadhar tilak:

(a) Ramnavmi and ganesh utsav (b) Teja Mahotsav and Sivaji utsa



Q.40

Q.41

Q.42

Q.43

(c) Shivaji mahosav and krishana janmashtami

(d) Ganesh utsav and shivaji mahotsave

ol BIfT & o d B 27
(37)2”;335%21 (Ef)qéd:l TN
SIRUEISIEARIEE (]) STAUDT AR

Who is the father of total revolution?

(a) Ram Manohar Lohia (b) Mahatma Gandhi

(c) gopal krishana gokhale (d) jai prakash narayan
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When and where was arya samaj founded by swami dayanand saraswati:

(a) 15 March 1935 Kolkatta (b) 10 Novermber 1911 new delhi
(c) 10 april 1875 bombay (d) 15 March 1858 Meerut
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Who is the father of modern Indian political thought?

(a) Raja Ram Mohan Roy (b) Swami Vivakanand
(c) Dayanand sarsawati (d) Mahatma gandhi
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Who propounded the policy of hundred flowers?
(a) Marx (b) Mao
(c) Lanin (d) Gandhi
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Which book is written by mathama Gandhi:
(a) Glimpses of world history
(b) My experiments with truth
(c) Wheel of history (d) Geetanjali
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The four essential elements of the state are:

(a) Population, Territory, Government and Nationality
(b) Sovereignty, Government, religion and Population
(c) Population, Territory, government and Sovereignty

(d) Population, Terriory, Government and army



